7.3.8 Transform tree syntax

	transform_tree( x0, y0, log2TrafoWidth, log2TrafoHeight, trafoDepth, blkIdx ) {
	Descriptor

	
if( trafoDepth  = =  0 && IntraSplitFlag  = =  0 && PredMode  !=  MODE_INTRA && 


!(PartMode  = =  PART_2Nx2N && merge_flag[x0][y0]) )
	

	

no_residual_data_flag
	ae(v)

	
if( !no_residual_data_flag ) {
	

	

log2TrafoSize = ( log2TrafoWidth  +  log2TrafoHeight )  >>  1
	

	

intraSplitFlag = ( IntraSplitFlag  &&  trafoDepth  = =  0  ?  1  :  0 )
	

	

maxDepth = ( PredMode  = =  MODE_INTRA ?  








max_transform_hierarchy_depth_intra  +  IntraSplitFlag  :  








max_transform_hierarchy_depth_inter )
	

	

xBase = x0 − ( x0 & ( 1 << log2TrafoWidth ) )
	

	

yBase = y0 − ( y0 & ( 1 << log2TrafoHeight ) )
	

	

if( log2TrafoSize <= Log2MaxTrafoSize  && 



log2TrafoSize > Log2MinTrafoSize  &&



trafoDepth < maxDepth  &&  !intraSplitFlag )
	

	


split_transform_flag[ x0 ][ y0 ][ trafoDepth ]
	ae(v)

	

if(



log2TrafoSize  <=  Log2MaxTrafoSize ) {
	

	


firstChromaCbf = ( log2TrafoSize  = =  Log2MaxTrafoSize  | |










trafoDepth  = =  0  ?  1  :  0 )
	

	


if( firstChromaCbf  | |  log2TrafoSize  >  Log2MinTrafoSize ) {
	

	



if( firstChromaCbf  | |  cbf_cb[ xBase ][ yBase ][ trafoDepth − 1 ] ) {
	

	




readCbf = true
	

	




if( blkIdx = = 3  &&  log2TrafoSize  <  Log2MaxTrafoSize )
	

	





readCbf = cbf_cb[ xBase ][ yBase ][ trafoDepth ]  | |  










cbf_cb[ xBase + ( 1 << log2TrafoWidth ) ][ yBase ][ trafoDepth ]  | |  










cbf_cb[ xBase ][ yBase + ( 1 << log2TrafoHeight ) ][ trafoDepth ]
	

	




if ( !readCbf )
	

	





cbf_cb[ x0 ][ y0 ][ trafoDepth ] = 1
	

	




else
	

	





cbf_cb[ x0 ][ y0 ][ trafoDepth ]
	ae(v)

	



}
	

	



if( firstChromaCbf  | |  cbf_cr[ xBase ][ yBase ][ trafoDepth − 1 ] ) {
	

	




readCbf = true
	

	




if( blkIdx = = 3  &&  log2TrafoSize  <  Log2MaxTrafoSize )
	

	





readCbf = cbf_cr[ xBase ][ yBase ][ trafoDepth ]  | |  










cbf_cr[ xBase + ( 1 << log2TrafoWidth ) ][ yBase ][ trafoDepth ]  | |  










cbf_cr[ xBase ][ yBase + ( 1 << log2TrafoHeight ) ][ trafoDepth ]
	

	




if ( !readCbf )
	

	





cbf_cr[ x0 ][ y0 ][ trafoDepth ] = 1
	

	




else
	

	





cbf_cr[ x0 ][ y0 ][ trafoDepth ]
	ae(v)

	



}
	

	


}
	

	

}
	

	

if( split_transform_flag[ x0 ][ y0 ][ trafoDepth ] ) {
	

	


if( InterTUSplitDirection  = =  2 ) {
	

	



x1 = x0 + ( ( 1 << log2TrafoWidth ) >> 1 )
	

	



y1 = y0
	

	



x2 = x0
	

	



y2 = y0 + ( ( 1 << log2TrafoHeight ) >> 1 )
	

	



x3 = x1
	

	



y3 = y2
	

	


} else {
	

	



x1 = x0 + ( ( 1 << log2TrafoWidth ) >> 2 ) * InterTUSplitDirection
	

	



y1 = y0 + ( ( 1 << log2TrafoHeight) >> 2 ) * ( 1 − InterTUSplitDirection )
	

	



x2 = x1 + ( ( 1 << log2TrafoWidth ) >> 2 ) * InterTUSplitDirection
	

	



y2 = y1 + ( ( 1 << log2TrafoHeight) >> 2 ) * ( 1 − InterTUSplitDirection )
	

	



x3 = x2 + ( ( 1 << log2TrafoWidth ) >> 2 ) * InterTUSplitDirection
	

	



y3 = y2 + ( ( 1 << log2TrafoHeight) >> 2 ) * ( 1 − InterTUSplitDirection )
	

	



log2TrafoHeight = log2TrafoHeight + 2 * InterTUSplitDirection − 1
	

	



log2TrafoWidth = log2TrafoWidth − 2 * InterTUSplitDirection + 1
	

	


}
	

	


transform_tree( x0, y0, log2TrafoWidth − 1, log2TrafoHeight − 1, trafoDepth + 1, 0 )
	

	


transform_tree( x1, y1, log2TrafoWidth − 1, log2TrafoHeight − 1, trafoDepth + 1, 1 )
	

	


transform_tree( x2, y2, log2TrafoWidth − 1, log2TrafoHeight − 1, trafoDepth + 1, 2 )
	

	


transform_tree( x3, y3, log2TrafoWidth − 1, log2TrafoHeight − 1, trafoDepth + 1, 3 )
	

	

} else {
	

	


if( PredMode  = =  MODE_INTRA  | |  trafoDepth  !=  0  | |




cbf_cb[ x0 ][ y0 ][ trafoDepth ]  | |




cbf_cr[ x0 ][ y0 ][ trafoDepth ] ) {
	

	



readCbf = true
	

	



if( blkIdx = = 3  &&  log2TrafoSize  <  Log2MaxTrafoSize  &&  





PredMode  !=  MODE_INTRA )
	

	




readCbf = cbf_luma[ xBase ][ yBase ][ trafoDepth ]  | |  









cbf_luma[ xBase + ( 1 << log2TrafoWidth ) ][ yBase ][ trafoDepth ]  | |  









cbf_luma[ xBase ][ yBase + ( 1 << log2TrafoHeight ) ][ trafoDepth ]  | |  









cbf_cb[ xBase ][ yBase ][ trafoDepth – 1] | |  









cbf_cr[ xBase ][ yBase ][ trafoDepth – 1]
	

	



if ( !readCbf )
	

	




cbf_luma[ x0 ][ y0 ][ trafoDepth ] = 1
	

	



else
	

	




cbf_luma[ x0 ][ y0 ][ trafoDepth ]
	ae(v)

	


}
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	

}
	

	
}
	

	}
	


